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1. Please circle True or False, as appropriate.

(a)EI‘] / F :1If ap — 2 as n — oo, the sequence {a,} converges.
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() T /@ If ap, — 0 as n — oo, the series ) a, converges.
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2. @ Find the sum of the following series.
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3. @ Use the Maclaurin series for e* to answer the following.

(a) Approximate e™! with Ty(—1), i.e. the 4th Taylor polynomial - equivalently the 4th partial
sum. Do not simplify, just write out the terms.
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(b) Yesterday we developed some reasonably complicated error estimates for Taylor series. Since
the series above satisfies the Alternating Series Test, we can use a simplier, and stronger,
error estimate. What is the error bound implied by the Alternating Series Test.
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Choose two of the three series to work with. Do not do all three!

4 m Use appropriate tests to show each converges or diverges. Formal arguments are expected
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5. Determine if the following series converges absolutely, converges conditionally, or diverges.
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6. Find the radius of convergence for the following series.
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7. Find a series representation for f(z) = 4 centered at ¢ = 2 and find the interval of
convergence. T
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